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@ Determine whether the series is convergent or divergent. In either case you must justily
your answer.
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C%/Determme whether the series is a
gent. In any

=t

bsolutely convergent, conditionally convergent or diver-
case you must justify your answer.
n

crdhc.rall y @ \/a/‘}'@/’“77L |
ib/)ﬁ' (5’”\/@/?@% ét} m/%, SCLek 74()&7[

.
P

Qm%b

ST dnegre by @ sy
pSEES

" b Juc 7L€/ 4 (i) v&fcj Cr /71

-~y (/ 4 - )
feje 2 0 54 wneqe
N2 N -

n
S wi Y &

(@Zm(\n—’rl)e”ﬁ“” - ? n(r ><~)
n=1

wot et an = 0 e £
1A '7/’\‘

Vaf) = [« )~

0 Z)gc/ mzé/j (O/ V‘Whﬁé) S



3}
{

. CLDDEtGI mine the power series representation for the function f(x) =

the interval of convergence.
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“3./(a) Find the Taylor series expansion of f(z) =

j
o

summation notation.
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at o = 0. Write the result using
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C@/ Suppose that f has the following Taylor polynomial expansion centered at a = 0: Tylx) =
2+ 50 + 4.

(a) Calculate f(0) and explain your answer.
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(b) What can you say about the first and third derivatives of f at z = 07 Explain your
answer (please make the explanation short).
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[‘f/ (a) Find the Taylor series expansion of f(z) = Inz at = = 2. Write the result using

summation notation.
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(b) For what values of = does the series found in part (a) converge.
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(a) Find the 3rd degree Taylor polynomial T3(x ) that apprommates the functlon flz) =
N £Yx\  27° about the pomt a=1
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(b) Use the Taylor inequality to estimate the accuracy of the approximation flx)
T3(x) when z satisfies .8 <z < 1.1.
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